Jlekumnsa Ne3

CeHiMAainik TeopudacbiHaarbl HErI3T
bIKTUManAbIK Tapany 3aHgapbl.



JKCnoHeHUuuanAabl TapaTty

3aHbl
* F(t)=1-e™; (3.1)
e f(t)= A* e (3.2)
e P(t) = ™ (3.3)

e Q(tl)=1-e™  (3.4)
* P(t1) = e™; (3.5)



JKCnoHeHUuuanAabl TapaTty
3aHbl

o 1=) P(t)dt =1/A;  (3.6)
0

e D[T]=1/A?; (3.7)
* A(t) = f(t)/P(t) = A; (3.8)



JKCnoHeHUuuanAabl TapaTty

3dHbI
 CBOMCTBA 3KCnoHeunarnbHOro
pacrnpeneneHns:
o 1. Npn A*t<<1, T.e. t<1=1/A
* P(t)=1-A*t=1-t/T
* C MOrpeLlHoTbI0 0<= 0,5*(A*t)%;

¢ D P(tl,t3)= e-)\tl/ e—)\tZ= e-)\(tl-tZ)



 HopmanbHOe pacnpeneneHue:

F(t)=(1/(0*N2*m )] e tem/(20)gy ;
» f(t)= (1/(0*N2*TT ) *er(tmi2/(2%02),
* T=m);
* D[T]=0%
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PacnpeneneHue Benbynna - N'HeaeHko.
* F(t)=(1/(0*N2*m )] eem2/(20)gy .
» f(t)= (1/(0*V2*1r ) *er(tmi2/(2702);
* F(t)=1- et ;
o f(t)= G*t(k'l)*k*e'qtk;
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PaBHOMEpPHbIN 3aKOH:

f npn 0<t<1/f
f(t)= onpn t>1/f

P(t) = 1 — f*t;
f/(1-f*t) O<t<1/f
At)= O t>1/f

=1 f*t)léi: J (1-F*t)dt = 1/(2*a);
cp 0 0

D(t)=] (-7, )*f(t)ct =] (1-1/(2%a))(t)dt =1/(12%a2)
0 0

o(t) =V (1-1/(12*a?) =1/(2*a*\3);
h(t)=f* e
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O0600LWEeHHbIN 3aKOH

f(t)= A* e™M(1- 1/(0 *V2*1r )| eleT0R/27000gy),
(e -02/2 /(O‘ *\/2*-"- )* e(t T*)2/(2*002)

a =2*T *\- )\2*0
=T, )\*

P(Y)=1- N eMdu+ M(o *N2*1r )] e {] el T012/2002g5}qy
0(2/2/(0- ¥/ * 17 )Ie -(u-T*) 2/(2002)du
T, =(1/ N*(1- e*2)

2 (2/)\2)(1 eaz/z) (2/)\)(1— ¥ 2)* -02/2_ sz;



